THOSEE KBRXBKRE AHER

20235 A1 BRTE

. ; EREE ZERE aRE AFE e/
HEX 4 =] 2t LB T o 3
AFHXSH AR 2o S 5 % 5 3 % 5 3 % 5 5 z 5 PR
% BAZEHAX 0 1 1 0 1 1 0 1 1 0 1 1 0
EEE XL 2 0 2 2 0 2 2 0 2 2 0 2 0
HREE 4 5 4 5 4 5 4 5 0
8E L 2 3 2 3 2 3 2 3 0
o HRIZIE 0 0 0 0 0 0 0 0 0 0 0 0 0.0
AR ARt S 2 2 4 2 2 4 2 2 4 2 2 4 1.0
RR—VRRE 0 0 0 0 0 0 0 0 0 0 0 0 0.0
E _ 1 0 1 1 0 1 1 0 1 1 0 1 1.0
B 7 9 16 7 9 16 7 9 16 7 9 16
BAEREFME E| 2 5 7 2 5 7 5 7 2 5 7 1.0
RI0T L4 2 5 7 2 5 7 5 7 2 5 7
% 0 0 0 0 0 0 0 0 0 0 0 0 0.0
0 0 0 0 0 0 0 0 0 0 0 0 0.0
0 0 0 0 0 0 0 0 0 0 0 0 0.0
6] 0 0 0 0 0 0 0 0 0 0 0 0 0.0
SRR T 0 0 0 0 0 0 0 0 0 0 0 0 0.0
= 0 0 0 0 0 0 0 0 0 0 0 0 0.0
AmE 0 0 0 0 0 0 0 0 0 0 0 0 0.0
E3 0 0 0 0 0 0 0 0 0 0 0 0 0.0
0 0 0 0 0 0 0 0 0 0 0 0
% 0 0 0 0 0 0 0 0 0 0 0 0 0.0
0 0 0 0 0 0 0 0 0 0 0 0 0.0
0 1 1 0 1 1 0 1 1 0 1 1 1.0
6] 0 2 2 0 2 2 0 2 2 0 2 2 1.0
REG73Y-) 0 0 0 0 0 0 0 0 0 0 0 0 0.0
T ARHE 0 2 2 0 2 2 0 2 2 0 2 2 1.0
RR—VRRE 1 0 1 1 0 1 1 0 1 1 0 1 1.0
E3 _ 0 0 0 0 0 0 0 0 0 0 0 0 0.0
B 1 5 6 1 5 6 1 5 6 1 5 6
% BAZEHAX 3 11 14 3 11 14 3 11 14 3 11 14 1.0
BRI 14 6 20 14 6 20 14 6 20 14 6 20 1.0
HRBEE 2 36 38 2 36 38 2 36 38 2 36 38 1.0
6] FREE 13 12 25 13 12 25 13 12 25 13 12 25 1.0
Fepals HRI%IE 1 5 6 1 5 6 1 5 6 1 5 6 1.0
T ARHE 6 7 13 6 7 13 6 7 13 6 7 13 1.0
RR—VRERE 31 9 40 31 9 40 31 9 40 31 9 40 1.0
E:S E 10 8 18 10 8 18 10 8 18 10 8 18 1.0
I & 80 94 174 80 94 174 80 94 174 80 94 174
- RS ARHE 2 3 2 3 0 2 2 0 0 0 15
RN 3 2 3 2 3 0 2 2 0 0 0
% BAZEHAX 2 3 2 3 1 2 3 1 2 3 1.0
BEEXIL 0 0 0 0 0 0 0 0 0 0 0 0 0.0
. . HRBEE 2 1 3 2 1 3 2 1 3 2 1 3 1.0
ZAR— (81) FREE 3 1 4 3 1 4 3 1 4 3 1 4 1.0
T ARHE 1 0 1 1 0 1 1 0 1 1 0 1 1.0
AR—VRERE 25 13 38 25 13 38 25 13 38 25 13 38 1.0
& 32 17 49 32 17 49 32 17 49 32 17 49
% BAZEHAX 0 1 1 0 1 1 0 1 1 0 1 1 1.0
BEEXIL 0 0 0 0 0 0 0 0 0 0 0 0 0.0
. . HRBEE 0 0 0 0 0 0 0 0 0 0 0 0 0.0
RAR—Y (1) FREE 0 0 0 0 0 0 0 0 0 0 0 0 0.0
T ARt S 0 0 0 0 0 0 0 0 0 0 0 0 0.0
ZR—VRRE 1 1 2 1 1 2 1 1 2 1 1 2 1.0
& 1 2 3 1 2 3 1 2 3 1 2 3
% BAZEHAX 2 8 10 0 3 3 0 3 3 0 3 3 1.0
&5 X1k 8 2 10 4 2 6 4 2 6 4 2 6 1.0
HRBEE 1 5 6 1 3 4 1 3 4 1 3 4 1.0
%5 FREE 9 8 17 6 7 13 6 7 13 6 6 12 1.0
ne AR 2 3 5 2 2 4 2 2 4 2 2 4 1.0
T ARt S 10 7 17 8 5 13 8 5 13 8 5 13 1.0
RR—VRRE 5 2 7 5 1 6 5 1 6 5 1 6 1.0
3 £ 3 3 6 1 2 3 1 2 3 1 2 3 1.0
& 40 38 78 27 25 52 27 25 52 27 24 51
% BAZEHAX 34 61 95 34 61 95 17 29 46 5 9 14 2.1
&5 X1k 30 33 63 30 33 63 14 21 35 1 6 7 18
HRBEE 5 30 35 5 30 35 0 18 18 0 5 5 19
AR %5 FREE 29 50 79 29 50 79 18 17 35 6 6 12 2.3
(e HRA) HRI%IE 5 9 14 5 9 14 1 4 5 0 2 2 2.8
T ARt S 29 29 58 26 28 54 5 15 20 1 5 6 2.7
RR—YRRE 2 10 31 18 10 28 9 6 15 5 0 5 19
3 £ 3 46 77 31 45 76 27 45 72 11 10 21 1.1
& 184 268 452 178 266 444 91 155 246 29 43 72
% BAZEHAX 14 28 42 14 28 42 12 26 38 1 6 7 11
&5 X1k 19 19 38 19 19 38 13 18 31 4 1 5 12
HRBEE 0 15 15 0 15 15 0 9 9 0 0 0 1.7
ABER 85 FREE 15 19 34 15 19 34 8 15 23 0 1 1 15
(4758) HRIRIE 1 1 2 1 1 2 1 1 2 0 0 0 1.0
TN AR#E 7 25 32 7 22 29 5 19 24 0 3 3 12
RR—YRE 10 9 19 8 9 17 3 7 10 1 1 2 1.7
3 £ 23 33 56 23 32 55 21 32 53 2 2 4 1.0
& 89 149 238 87 145 232 63 127 190 8 14 22
% BAZHAX 6 13 19 3 10 13 1 8 9 0 3 3 14
&5 1L 1 14 15 1 8 9 0 2 2 0 1 1 45
HRBEE 0 10 10 0 7 7 0 5 5 0 2 2 14
ABER 85 G 4 6 10 4 3 7 3 1 4 0 1 1 1.8
() HRIRIE 0 8 8 0 8 8 0 6 6 0 2 2 1.3
TN AR#E 14 12 26 13 3 16 2 1 3 0 0 0 5.3
RR—YRE 16 3 19 14 2 16 3 2 5 1 0 1 3.2
3 £ 6 13 19 4 9 13 4 9 13 1 3 4 1.0
& 47 79 126 39 50 89 13 34 47 2 12 14
% BAZHAX 15 15 30 15 14 29 8 8 16 4 2 6 1.8
&5 1L 9 7 16 9 5 14 4 1 5 0 0 0 2.8
HRBEE 0 3 3 0 3 3 0 1 1 0 0 0 3.0
85 B 10 14 24 10 14 24 8 8 16 0 3 3 15
— HRIRIE 0 9 9 0 8 8 0 7 7 0 1 1 1.1
(BT4) T AR#E 14 6 20 13 5 18 7 4 11 1 2 3 16
= ZF—vRE 4 2 6 4 2 6 2 1 3 2 0 2 2.0
= ZESE—FATR 35 35 70 33 34 67 28 31 59 12 3 15 1.1
BRENEERAR 35 35 70 33 34 67 31 32 63 1.1
& 122 126 248 117 119 236 88 93 181 19 11 30




THOSEE KBRXBKRE AHER

20235 A1 BRTE

=+ Py
ARRS | 28 | 2HER SEE BE Sl N E Imex
S B & ES & B

" EESIEESS 3 Z 7 2 2 Z i 0 i i 0 40
EEXI 3 2 5 2 0 2 0 0 0 0 0 o 00
HEBE 1 2 3 0 i 0 0 0 0 0 o 00
e SRER 6 4 10 4 2 6 3 i 4 2 0 2 15
— HAIE 0 2 2 0 0 0 0 0 0 0 0 o 00
B [ e A 4 4 g 3 i 4 0 i i 0 0 o 40
ZR— R i i 2 i 1 2 i i 2 i i 2 0
5  [ertaa K 6 29 6 2 20 5 9 4 ) 5 5 4
BRRHAEHAR 13 6 29 6 2 20 5 i 5 3

i 44 51 95 24 % 59 i 22 37 6 Z 10
< HABHEX 7 5 12 7 3 10 3 4 i 0 i 25
EEXIE 6 3 9 6 1 7 3 0 3 0 0 o 23
GEBE 1 2 i 0 i 0 0 0 0 0 o 00
w wH REE 2 5 3 0 3 2 0 2 i 0 i 15
oS HAIZE 0 0 0 0 0 0 0 0 0 0 0 o 00
’ e | Amis g 5 14 8 3 i 2 2 4 2 2 s 28
ZE—VEE 3 i 2 2 0 2 0 0 0 0 0 o 00
- 5 9 4 z 6 i r 6 i 3 6 o 10

i 35 25 60 31 3 44 14 9 23 7 8 5
% [ BEEEEXCI 7 0 17 7 10 17 2 i 3 0 0 o 57
B XIEOT 2 4 g 2 4 8 2 3 5 i i 216
HEBAECH 0 3 3 0 3 3 0 0 0 0 0 000
XgALLE | #F [ Fesmc 9 12 i 9 12 21 5 ; i 0 0 019
FAFIR BRIz ROl i 9 0 i 9 0 0 3 3 0 0 033
@W [ e L AMEECT § 6 2 5 6 2 i 3 2 0 0 030
2 TXR—vacT 2 i 3 2 1 3 0 i 0 0 030
3 %ol 17 9 36 ] 9 36 10 12 22 0 3 316

i 46 g4l 110 46 64l 110 20 29 49 i 2 5
*  [BZEEExe 9 ; 17 9 B 17 4 3 7 0 0 0 27
e = e S S
5 A e BEEC2 3 3 0 0 A
el I Sh#EC) 6 ; 12 6 7 K 1 1 2 0 0 065
povdia A% 0 7 7 0 7 7 0 3 3 0 0 023
e | _ABH=c 8 3 il 3 3 il 2 7 q 0 1 6
ZR—VRECZ 2 i 3 2 i 3 1 2 0 0 0 5

i 20 35 64 29 33 62 i 7 23 q 0 1
< [ BEEEEXCI 2 3 2 3 0 i 0 { 11— 30
B XIECT 0 0 i 0 0 0 0 0 o 00
YEHECT 0 i 0 i 1 0 1 1 0 0 o 10
RPN # [ euEEC 2 3 5 2 3 5 2 2 2 0 0 of 13
FALFI (T o 0 i 1 0 i i 0 0 0 0 0 o 00
@ [ e L AMHECI 0 0 0 0 0 0 0 0 0 0 0 o 00
ZR— VR BCT 0 i 1 0 i 1 0 0 0 0 0 o 00
3 %ol 4 3 7 4 3 7 3 2 5 1 0 1 1.4

i 8 i 19 8 il 19 ; 6 ] 1 i 2
% [BEEEEXG { 0 i q 0 i 0 0 0 0 0 o 00
rito o0 ———0———0———o——00
28R R B C2 A
RELNTEE | gn ETE 1 2 3 i 2 3 1 0 i 0 0 030
o HERI% 1702 0 0 0 0 0 0 0 o 00
' e [ ABHEc) 0 0 0 0 0 0 0 o 00
ZR—EEC 0 0 0 0 0 0 0 o 00

i 2 5 g ; § g i 0 i 0 0 0
% | BEEBEEXCI 1 q 2 i z 0 0 0 0 0 o~ 00
B XIEOT 2 0 2 2 0 : i 0 q 0 0 o 20
GEAFCT 0 1 1 0 i 0 0 0 0 0 o 00
XEALAE | #F [ Fusec 1 1 2 q 1 2 0 i { 0 0 o 20
7 A 5k E 0 0 0 0 ) 0 0 0 o 00
@ [ e _ABEECH 1 2 3 2 3 0 i { 0 0 o 30
= XA viggcl 1 3 3 0 g 0 0 0 o 00
3 %ol 2 4 2 2 ; 2 3 5 1 0 1 1.2

i 8 1 T 8 T 19 3 5 1 0 1
% | BAEEEXG 1 2 i 2 0 0 0 0 0 o 00
Exior 2 3 7 3 0 i { 0 { 130
At EHFC 0 1 0 0 0 0 0 0 o 00
srerc I ETE 0 2 3 2 3 i 0 i 1 0 1 30
pordia T %02 0 0 0 0 0 0 0 0 0 0 o 00
e | _ABH=c) q 3 i 2 3 g i q 0 q 15
ZR— MR 0 2 0 2 2 0 0 0 0 0 o 00

i 6 14 6 14 2 q 3
. ESEEESS 0 0 0 0 0 0 0 0 0 0 g o 00
B XL 1 0 1 i 0 i 0 0 0 0 0 o 00
YREHE 0 0 0 0 0 0 0 0 0 0 0 o100
nEABRE | uE ETE v 0 i 1 0 1 i 0 i { 0 0 o 10
i) 3k 4 0 0 0 0 0 0 0 0 0 0 0 o100
e | Amis 0 i 1 0 1 i 0 0 0 0 0 o 00
ZR—VRE 0 0 0 0 0 0 0 0 0 0 0 o100

i 1 2 3 i 0 i q 0 0 0
. ESEEESS 0 q i 0 0 0 0 0 0 0 0 o 00
B XL 0 0 0 0 0 0 0 0 0 0 0 o 00
YREEE 0 0 0 0 0 0 0 0 0 0 0 o100
HEAREE # EZ5E 1 ] 0 0 0 0 0 0 0 0 0 o 00
) HHI%E 0 0 0 0 0 0 0 0 0 0 0 o100
e | Amis 2 0 i 0 i i 0 i 0 o 10
ZR—VRE 0 0 0 0 0 0 0 0 0 0 0 o100

i 2 q 3 q 0 i i 0 i 0 0
. FESIEESS 0 0 0 0 0 0 0 0 0 0 0 o 00
BEE X 0 0 0 0 0 0 0 0 0 o 00
YRHE 0 0 0 0 0 0 0 0 0 0 0 o100
wH ETE T 0 0 0 0 0 0 0 0 0 o 00
HEA HHI%E 0 0 0 0 0 0 0 0 0 0 0 o100
e | Amis 0 0 0 0 0 0 0 0 0 o 00
ZR—RE 0 0 0 0 0 0 0 0 0 0 0 o100
3 0 0 0 0 0 0 0 0 0 000

i 0 0 0 0 0 0 0 0 0 0 0 0
x EESESS 105 17 277 9ol 158 57 52 9 147 T 39 55 7
BEE XL 106 961200 i 84 85 58 551113 26 ig 44 6
VLT 31 3 i 110 22 6 79 85 5 5 :
] wH T3 TI5] 147 262 To9] 139|248 75 77152 3 34 6] 5
i HHI%E 0 5 5 i 51 51 5 3 6 3 2 15 7
e | Amis TI5] 116|231 05 95T 200 25 68113 k 8 51 3
ZR— VR 123 5 2 i 5 171 82 3175 73 6 g 4
3 200 745|445 77 29| 406|154 20 360 Y 45 2 1

T 78711008 1795 28] 0pp1 76500 4771 654l T131[ 2271 254l 48t

HREE ZREYEREY
KBERBERARIIB T OEMEREITN) —ERELH



